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w Y{-{+r t sl qrr { r cm q sq? rMdq} * fr(qfrsddrnrq*+asMiffi+ffid
re?-d+ aredp wl qr tue qA tuat I r

rm t szPI Wt qiqrdq seaqr f@ r

firqrar +€+f{ qr sala fuqt w r+ar dr

PanrA({FIfr) Marlcs : 55

l. (a) What is meant by Accounting Standards? State
briefly the merits of issuing Accounting Standards.

i€tfi{ qms t wr eTlc{rc *l *ei*;{ qri6
frffr-d 6r+ * qrq ttfqrq d fdfus | 4

(b) Differentiate between Cash Basis and Accrual
Basis of Accounting.

i-*'g q1qp6 3ft sq-a+ srTqrfud tqtar-{ t srdr
+lkq r 3

or (sTirdn)

Write short notes on any two of the following:

(a) Going Concern Concept (

(b) Convention of Conservatism

(c) International Financial Reporting Standards

(d) Limitations of Accounting.

F{q{tffi+qrdlcTqffifrtuq:

ERFR-iRIER afrA t r 31.03.2018 d s'd *r gmr-w
frq qr.

srffi +1 qiq-ft fqiftq ftqft + $Rq qd +] rirrqt
fr+ rrqr ; qqftrfr t xroe gq,.

(a) eT* 500,000 d'o,

(b) IiTa s q{fi-{0 10,00,fi)0 Eo,

(c) s,{i*r q €rq-{r6qr 2,00,000 {o,

(d) .tfr.T sttFr 8,00,000 ro,

(e) t+<n 5,50,fi)0 do, nqr

(0 q$fr * vq 5s,000 5o q,

{rN si furfd f{ET 4.

2
23 7U21

sTfu€ IIRT
(€o)

/ . TIqfr rtRT
(€o)

Efrs +{ER 50,00,000

10,00,000

EIQI T +frg 50,000

A E6'I ?5OT Hi{I 8,00,000

A +t {qi 8,00,000 trsR 10,00,000

Bfrl (ifr 5,00,000 riq-e q mrffi 20,00,000

s'ffs{ s slti-qqr 8,00,000

1fr a r++
q_qufr

20,00,000

6,50,000

qt4 73,00,000 +4 73,00,ofi)

((

P. T. O.



As Capital 8,00,000 Debtors 10,00,000

B's Capital 5,00,000 Plant and Machinery 20,00,000

Furniture and Fittings 8,00,000

Land and Building 20 00 000

C's Capital 6,50,000

Total 73,00,000 Total 73,00,000

m2t 22

The firm is dissolved due to weak financial position of
the partners. Assets realized:

(a) Stock Rs. 5,00,000;

(b) Plant and Machinery Rs. 10,00,000;

(c) Furniture and Fittings Rs. 2,00,000;

(d) Land and Building Rs. 8,00,000

(e) Debtors Rs. 5,50,000 only

(f) Realization Expenses amounted to Rs.50,000.

The following was the position of the partners:

Prepare the necessary ledger accounts in the books of
the firm.

(a) Sr( q{qrc 3[-{EIRqI

(b) Fl-G-dK 6'1 qf6a

(c) sf,d{Sq ffiq sqrqR-+s{ qrffi

(d) tstei{ ql etcr( r

3 m21

3-5x2=7

2. The following is the Trial Balance of Jagdish as on
March 31, 2018. You are requested to prepare the

Trading and Profit & Loss Account for the year ended

March 31, 2018 and Balance Sheet as on that date

after making the necessary adjustments:

Particulars

Porlner Pivate Estate (Rs.) I,rivate Liabilities (Ils. )
A 50,00,000 70,00,000

B 32,00,000 30,00,000

C 40 00 000 60,00,000

Debit
(Rs.)

Credit
(Rs)

Sundry Debtors 5,00,000

Sundry Creditors 2,00,000

Outstanding Liability for Expeness 55,000

Wages 1,00,000

Carriage Outwards 1,10,000

Carriage Inwards 50,000

General Expenses

Cash Discounts

70,000

20,000

Bad Debts 10 000

Motor Car 2,40,000

Printing & Stationery 15,000

F\rniture & Fittings 1,10,000

Advertisement 85 000srffi q-C S d-{ srilfi A, B E{ c mq-tltr
P. T. O.

((

( :(



Insulance 45,000

Salesmen's Commission 87,500

Postage & Telephone 57,500

Salaries 1,60,000

Rates & Thxes 25,000

Drawings 20 000

Capital Account t4,43,N0

Purchases 15,50,000

Sales 19,87,500

Stock on April 1, 2017 2,50,000

Cash at Bank 60,000

Cash in Hand

Total

10,500

36,30,500 36,30,500

7U1 4 m21

The tbllowing adjustments are to be made:

(a) Stock on March 31, 2Ol8 was valued at Rs.

7,25,000.

(b) A provision for Bad & Doubtful Debts is to be
created to the extent of 57o on Sundry Debtors.

(c) Depreciate Furniture & Fittings by lOVo andl
Motor Car by 20Vo.

(d) Jagdish had withdrawn goods worth Rs. 25,000
during the year.

(e) Sales include goods worth Rs. 75,000 sent out to
A Ltd. on approval and remaining unsold on
March 31, 2018. The cost of goods was Rs. 50,000.

P. T. O.

Liabilities Amount
Gr.)

Assets Amount
(Rr')

Sundry Creditors 50,00,000 Cash in Hand 50,000

As Loan 10,00,000 Stock 8,00,000

. E{ srfr +} rq olt fi Frurd F*qf qi 
ES ffif d

15,000 do sT Trdr{ F6q rrq I {W qi-qr cIRTqi q}

dc fflr rrqr sil't q-qa qurffi t 1,40,000 ro srq

Eq t €Ts eqt fqfqq Mf t 14,000 to iTQn 18,000

fi-q{r: nTqr -gq I sR4l d urr+ rfr Eq ({ Ts,rqr fuf,
* Ed d 6000 eo tt t'r qq ffi qil{ Ei Tqfu t
10,000 so crq gq I Y I Es-.{ {,f q'$ 41 Iffi
qqi sqr t el r s-S 800 {o qfrrTrd sr ain lr{fod

83il f,qr e{lf,l qq $S €4 q-d{ s.r} t r qrsk*
qtf.fi arq 2,200 \o gS + y i qs q-fi H r Fqtrrq

Wi gw sitr qftr{ XIntH 31.07.201a d F+} ri r

tFd 6t SH+1 { sTrdffs +fi ur+ ?rqn qtfsq r rs

0r (arq{r)

(a) Explain br:iefiy the Proportionate Capital Method
of Piecemeai Distribution.

g+,B-f*B kd{ur d eTriqrffls lqi fdls s1 {frc
iswnqr 5

(b) A, B and C are three partners in a partnership
firm, sharing profits and losses equally. The
Balance Sheet of the firm as on March 37,2018
was as under:

21

((

,(
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You are required to prepare the necessary ledger

accounts in the books of the firm.

x, Y irqr 2,31.03.2018 +r 3rq-{ srffi tm +rq s,r

+qR frt t r i erfr *t z, z. r ergq-6 t'eta G t r

{s frlq Yi $rfi g-trIqr frq elr:

i{Nf q} x t 12,000 ro d t fdqr | 20,000 do +
frfrq ffi d v i e frqr eqh 19,saa qo { fi0

7021

(f The salesmen are entitled to a commission of 57o

on total sales.

(g) Debtors include Rs. 25,000 Bad Debts.

(h) Printing & Stationery Expenses of Rs. 55,000

relating to 2016-17 had not been provided in that
year but were paid in this year by debiting

Outstanding Liability.

(i) Purchases include purchase of furniture worth Rs.

50,000 on April 1, 2017.

qrrfrvr +r 31.03.2018 {,r fufl fTq t I slF[{.fs

sqrd-q-{ 6{t + q{-{r( 31.03.2078 d sqlq sd 6'r

qrqR dqr f,rq-ErB srdr 3rh s€l rdlrr ;F,r gc{ trI
$r$q I

m 5

(
Srfud {rRr

(60)
Eqfr IIfrI

(60)

x s1{fr 80,000 enfr sqFtrqi
400,000

{s6rs + frc
flEIqFI 3,00,000 1,00,000

Y*t{il 60,000 {$a lhcq mcr

1we{ur qw) 20,000

riTq frlrl 20,000 E5-;q 16,000

drq-Erfr urdr 20,000 f${r 18,000

fsfrs A-{fi
38,000

q-gfqf : q€
iil crqqH 1,000

37,000

ffiq |aqn 26,666

{ar4 q{-d 5o1

nqqH 1,000
19,000

w(f, +il{ 14,000 zd{m 4,000

srRR fr+{r ffrr 3,000 &i+sE 57,000

sd ?,34,0N gid 2,34,000

k*rur TTRT

(ro 6
ITfrT

(Eo {)
EEq t{fl 5,00,000

EEs +{fi 2,00,000

qc t fdC qfi ErfuG 55,000

rq-$ 1,00,000

qrgr qFFs

qrEr 3{FF5

1,10,000

50,000

€TqTq EFI 70,000

++.g aEr 20,000

{dd Tsur 10,000

P. T. O.

(

( (
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((

Frr{frfud Hcr+q-{ f*} qr} t: 
(

(a) 31.03.2018 d €ts i5r {FI 7,25,000 do rII I

1uy frfrv ffi c{ 52, 6t *rTr * {* e dRq
Euif*Hxreqrq6rcrtr

(c) rrdte-t e lsErq ir rcEo aqr qta mr +1 202,

erFst +tFqq r

Investments were taken over by X at Rs. 12,000.
Sundry Creditors of Rs. 20,000 were taken over by y
who has agreed to settle account with the6. at Rs.
19,800; remaining creditors were paid at Rer11j,000.
Joint Life Policy was surrendered and Firrjd' ,r{ssets

realized Rs. 1,40,fi)0. Stock and Sundry Debtors
realized Rs. 14,000 and Rs. 18,0fi) respectively. The
firm has to pay Rs. 6,fi)0 for an outstanding bill not
recorded in the books. An unrecorded asset realized
Rs. 10,000. Y took o-!,er the responsibility of
completing dissolution. He is granted salary of Rs. 800
per month and be is to bear realization expenses.
Actual realization expenses amounted to Rs. 2,200;
paid by Y on his own. Dissolution was completed and
final payments were made on July 31, 2018.

19 '7021

qta +rr 2,40,000

fituq q M 15,000

tr'iiqt s {l!I-qwl 1,10,000

fffirr{ 85,000

qtqr 45,000

f+*q-rrf ol +frvr+ 87,500

srd E )?m{ 57,500

+d-{ 1,60,000

({E.[.{ 25,000

qrflul 20,000

{ui urn 14,43,000

ttrq 15,50,000

fr-x-q 19,87,500

er*e r, zorz d g-q 2,50,000

+s t +{E 60,000

6rer t +fi-E 10,500

+q 36,30,500 36,30,500

Lloblltrbt Amount
(R..)

Assets Amount
(Rr.)

X'6 Cspital 80,000 Fixcd As5ct6 4 00,000
Irrs: ?rov. for Dep. 3,00,000 1,00,000

60,000 Joint Lifc Policy (ar

surrcldea vqlue) 20,000

Rcsc&! Fund 20,000 Stoct 16,000

Profit & Irss a/c 20,000 Investments 18,000

Suodry cleditors
38,000

1,000

ka6: Ptov. for
Di6court 37,000

Sundry Dcbtors 20,000
ks6 Pro. for bad debts 1,000 19,000

Salary outstanding 14,000 Z's Crpital 4,000

Iuvcstncnt Fluctuation
Fund

3,000 Cssh at Bank 57,000

Total 2,v,o@ Total 2,34,000

P. T. O.

ar(

.(

Y's Capital
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showing that 75Vo of the goods were sold for Rs.
1,20,000. His actual expenses amiunted to Rs. 6,000.
Dwesh accepted a bill for the balance due. Show
Consignment Account and Devesh Account in the
books of Naresh and Naresh Account in the book of
Devesh.

qrT$ + +vr + ffi * t+{r d or.oa.zora d
1,20,000 ro +1 Hrrm E5r rncr, drrrd t 20,000 50

qfqs d qrdn qilTd vt *qr r ssi t0,000 ['o rnrr

*1 dc q{ qc F+-i r }ffi srfl:r +trc q{ 42,
qfrvrc nvt srdn +tre * uw eqa st$ m qft-d

+tq-a c{ zovo ffi{q ifi FEER t r :o qr 2018 +
t*vr * qre $ qn f** srcr crq Een ffi zsz
qRr 1,20,000 d'o d Frq Eqr fftncr qr r ss+
qr€If{d6 qq 6000 ro t r tfu t e*rqr tc + rds

6q S+n 6{ frcrr }qq qrm t{r d SR-+l t
t*vr srar ott{ t*vt +t gw+1 { qt{r €rdr Rsr{q rrz

PARTB (qFIs) Marks:Zo

6. (a) Briefly explain Garner Z Murray rule.

ffi e-{rqqt + f{qc d {frq d qrges r s

(b) X, Y and Z sharing profits in the ratio 2:2 : 7

agreed upon dissolution of their parttrership oD

March 31, 2018 on which date their Balance Sheet
was as under:

(d) s{ * <ttn qrrfr{r i zs,ooo to qI {IFIt:t rrd t
F{6rmr r

(e) F+*'+ t e fro * zs,ooo {o *l qrqn sr{fr({
ct +qr aqr 31.03.2018 +1 fu{r fuqr q-qr qr€

sFcRrd t r qro +1 Enrnt 5o,ooo {o t I

(D tid F+xq qt sza EEfI{FI f+*'c+afd 6I rqql

qHrtr

(g) ffi t zs,ooo do {dd xq sFqkc { r

(h) s{ 2016-12 t {qrqd EtErr den €nr+0 * qq
55,ooo do sr ft{fl ss q{ I rd'fuqr rrqr qr

cfd W q{ 5{6I SrrdH fscr rrqi qs,rqr qrfua

*'rrq srtrs{ r

(D frq t o7.o4.2}17 +) SO,OOO ro * sfi{< qt

s0-ssFcfflfrtr tz

Or(qqEI)
A club gives you the following Receipt and Payment

Account for the year ended March 3l,20la:

Receipt & Payment Account

7021

Receipts RJ Pqments

To Balance b/d 4t],200 By salaries 1,20,00

To Subscriptioos 2,86,000 By rent 60,000

Tb Miscellaneous
Income ?,000

By electricity 12,200

P. T. O.

I

((

( (

Rs.



To Int rest on Fixed
Deposit 20,000

By library books 10,000

By magazines &
newspapers 2L,700

By sundry expenses 1,02,800

10,000By sports equipment

By Balance c/d ?4,500

Total 3,6t,2'00 Total 3,6L,200

't021
1021

Charge depreciation on furniture and sPorts

equipments at liVo arrd 20Vo p.a. resPectively iDclusive

of additions.

Frqfrfts-d ffi t {srfic *t gg-+i { +qR

qtfqq: vrsr tf* rsrdl, vrcr tr<n EIrdI, {rcI
scr+q-{ Errdr irql {IrGil (frq-EIF{ EIrdI:

72

o/(qqEI)
On April 1, 2018 Naresh of Nagpur consigned to
Devesh of Delhi goods costing Rs. 1,20,000 at an

invoice price 2OVo tbove cost. He has spent Rs. 10,000

as goods consignor. The consignee is entitlcd to a

commission of 4Vo on invoice price and 20Vo ort any

excess price realized over invoice price. On June 30,

2018 an Account Sales was received from Devesh

P 11. O.

Items

Outstanding salaries

March 31,

2017
March i 1,

2018

Rs RJ

7,100 1,700

Outstanding for electricity bill 8,640 9,730

Fixed deposit withb^ak at llVo 2,00,000 2,00,000

Outstanding for magazine and

newspapers 2,?60 3400

Interest accrued on fixed deposit 5,000 5,000

Subscriptions Receivable 72,630 15,750

Prepaid Sundry Expenses 4,t70 6,200

Furniture

Sports Equipments

96,000

72,000 2

Library Books 50,000 52,500

1 3T+f,, 201? +) 14qR 24,0W

crd tr. zors + a-{fi 28,000

1 3Tilf,,2017 d w-q qS Xet 32,000

31 rnd,2018 +] 6-q ((s [d) 34,000

3rm f{rrq (t-rg Rs-q t zoZ .rRml

1,20,000

s{ + +{H Ho + Eri I wn gn tRr 2,54,000

lno qi vnsr t qre qnq 1qqt q-d) 10,000

qq c-{{
sc+ffr + e-gfra +<Er

20,000

4 000

q{-d xq 3rcFdkd 2,000

afi tqqrqrq) 4,000

a

8

Additional Information:

t7

((

( .(
I

Rs.

E{ + *rn Earq t-*-s
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the branch are paid by the H.O. All cash collected by
the branch (from customers and cash sales) is

deposited to the credit of H.O.

From the following particulars, prepare Branch Stock
Account, Branch Debtors Account, Branch
Adjustment Account and Branch Profit & Loss
Account in the books of H.O.:

{wrmq ERI {rGII q} qre f*x'q {eq, + HFkr Errtr

z;vo t, u< tqr qrdr t r snqr * sS qq twrmc
dnr f*-t qril t r vrsr ERr q6-d t-+-E fr+'c F+mq aqr
qr6*l'O {wrfiq + tari + eqr f*-qr qrilr t r

'7021

You are required to prepare the Income &
Expenditure Account for the year ended March 31,
2018 and the Balance Sheet as at that date.

31.03.2018 +J qqrq q{ + ffi FdF ffiq 6r frq
crfiil 5,rdn Erdr t:

xrfiA e trrdg Erf,r

1 srfrFo q+n:

9

(

RJ

Debtors on April 1, 2077 24,000

Debtors on March 31 ,20t8 24,000

Stock oD April 1, 2017 (Invoice Price) 32,000

Stock on March 31,2018 (Invoice Price) 34,000

Cash Sales d the year 1,20,000

Credit Sales (ZfiVo more tha!. cash sales)

Total amount deposited in the H.O. dccourt
durinp the vear

Goo& returned by braach to H.O. (Invoice
Price)

2,54,000

10,000

Expenses paid 20,000

Discount allowed to customers 4,000

2,M
Spoilage (Abnormal) 4,000

vrffi So tlrdrT €o

ts sTrt qnqr Tcr 48,2W +dc 1,20,000

qYw{ 2,86,m0 f6{rcr 60,000

7,000EFq eTrq ffi t2,200

srefq qqr q{ qrq 20,000 5R-drdq 5R+; 10,000

TFIltM-q' ET

qFr+r{ 2,.,700

EEq qq 1,02,800

de m srcrc 10,000

ts 24,500

*rr 3,6L,200 +rr 3,6r,200
r

c{ qrd 31,

2017

md sr,
20lE

do do

erft +il{ 7,100 1,700

3r€f, ffi fu6 8,640 9,730

P. T. O.

(

(
Bad Debts witten off



107o rR *;6 { srqfq qcr 2,00,000 2,00,000

ffia aeII sqrqn-qr q erEr 2,:250 3400

qr{lq qcl .R scrftfu qrq 5,000 5,000

clq 3NKFI 12,630 15,750

.I*<r FqAs qq 4,r70 6,200

siTqr 96,000 ?

*a +,t srqrc 72,000 ?

gm-*rc+ gm* 50,000 52,500

7021

srfdFm) * sFqfffd etil gt, u,#qr nqT €-d *
€FrFr rR tylo 4 2oVo qfd q{ Tg6rs qrn{q I

3t.o3.2ot9 qi nqrq s{ * ffi sTr{Farq Erdr srtr

sS fdlq irr Ce-;r q-* tcn +1&q r n

3. The book value of Plant and Machinery on January 1,

2015 was Rs. 10,fi),000. New machinery for Rs. 50,000

.was purchased on October 1, 2015 and for Rs. 1,fi),000
on July 1, 2016. On April 1,2017, a machinery whose

book value had been Rs. 1,50,000 on January 1, 2015

was sold for Rs. 80,000. Depreciation had been (
charged at lOVo per annum since 2015 on Straight Line
Method on December 31 each year. It was decided in

2Ol7 that depreciation at the rate of 2OVo per annnm.
on Diminishiug Balance Method should be charged

with retrospective effect since January 1, 2015. Show

Plant & Machinery Account upto December 37,2017.
Give detailed workings. AIso show the change in
method prospectively.

15 'to21

(Q Ram was allowed a salary of Rs. 10,000 per month
for three months.

{rc + 3 q-di + fdC 10,000 r'o cfr cr€ 6r +tr{

Rqt rrq 
r

(g) Discount on Bill of Exchange is to be treated as

the expense of the Joint Venture.

fcF{Tq f{f, +,r {eEr dgS q-+srq * qq *
sqn sq-srR-d t{r t r

Assuming that each party records its own transactions,
prepare the following accounts:

tr6 cnt Eq f{ x-+s cq orq} *r-tfr +r q< fi
EkrFr E6{iTr t, t+q sa +cR s1frs:

(i) Memorandum Joint Venture Account

idt€{ rig-* <6q1q Erdr

(ii) Joint Venture with Shyam Account in the Books

of Ram

rc 61 SR-df I vqrc t qlq sgil q-{srq rqrdl

(iii) Joint Venture with Ram Acsount in the Books of
Shyam.

{qrc 6t SRqi q nq * mq rigm a-asrq qrdl 
1

12

5. Goods are sent by the H.O. to the Branch at the

selling price which is cost plus 25Va. All expenses of
P. T. O.

l0

(

(
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2,00,000 Eo .5I 2 crd + fdC T{rqr 31h u{F5I 187o

cffi c{ i-cn a{ frqr r Frqfrfba *c-t{ H ri'
(a) Ram spent Rs. 9,600 for conveyance; Rs. 12,000

for carriage and Rs. 4,fi)0 for travelling expenses.

{Iq t 9600 do qr(a IR, 12ooo 6" rffi qrqt II{

qtr +ooo {'o {EIT rR qq F*} r

(b) Shyam spent Rs. 6000 for travelling expenses and

Rs. 3,000 for miscellaneous expenses.

{qrc } 6000 so qEII qq 3ih 3ooo do EEq
qq F*i r

(c) Ram sold part of the goods for Rs. 3,60,000 and

Shyam sold part of the goods for Rs. 2,20,000.

{rc I crm fir tE r6Rr 3,60,000 u. t }q Rqt
qrh Yqrc i qro m 5,s f6wl 2,2o,ooo to i *q
f<qr r

(d) Goods costing Rs. 12,000 and Rs. 8000 were taken

up by Ram and Shyam respectively al ZOVo above

the cost.

{rq q {firT } rzooo €o srtt 8000 to qt arrm qr (

cltT r6Et{I: vrm t 2o7o 3Tf$s s{ t fe-qr r

(c) Shyam was to be allowed Rs. 9,000 as rent for his

godown having been used for Joint Venture

Purpose.

rigm aryq1 * ffi rgm A G rtT+ ,il<rc sr
fq;<rqr Yqrc d sooo €o fr{fi TqI I

{rir q qvn-{ 6T Sws {FI 01.01.2015 q} to,oo,ooo

to ctr I ;r{ cfi or.ro.zots * 50,000 tro +1, eqh

ot.o7.2ot6 * t,oo,ooo t' +1, rrfr{ ,r$ t ot.o+.zorz

d, or.or.zors d r,so,ooo 5o $ gs6 IFq srd
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From the following data, prepare the Stores Ledger

Account as per the Perpetual Itrventory System and

calculate the value of Closing Inventory on March 31,

2018 using (i) Last-In-First-Out method and (ii)
Weighted Average Cost method:

March 15

((

March 1 Opening Stock 2,000 units @ Rs. 7.50 each

March 3 Issues 1,500 units

March 5 Purchases

March 10 Issues 2,5fi) units

Purchases 2,500 units @ Rs. 9.00 each

Marcb 17 Issues 2,000 units

March 21 Purchses 2,000 units @ Rs. 8.50 each

P. T. O.
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4. Mohan purchased four second hand cars on hire
purchase, cash price Rs. 5,25,000 each. The hire
purchase price for all the four carc wai Rs. 24,00,000.
The payment was to be made Rs. 6,00,000 down and
annual instalments of Rs. 6,00,000 each. Mohan
charged depreciation @ lOVo p.a. oo straight line
method. Mohan paid the down payment and the first
instalment but could not pay the second instalment.
The vendor, after negotiatioDs, took back three cars.
These cars were taken back after depreciating them @
2OVo p.a. on written down value method. One car was
left with the purchaser. The vendor spent Rs. 36,000
on repairs and sold two of these cars for Rs. 8,00,000.

Show the necessary ledger accounts in the books of
both the parties.
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Ram and Shyam entered into a Joint Venture sharing
profits and losses equally. Ram purchased goods for
Rs. 4,50,000 and paid cash for the same. He drew a bill
on Shyam for Rs. 2,00,000 for two months and
rliscounted it @ L8Vo per annum. The folkrwing
transactions took place:

{Fr aqr aqrq } g1q-6ffi +} c<rcr stet gs q6

€g$ qqn { r*vr f*,-qr I ttc i 4,50,000 do E qr€r

E0-(r 3ltr i6-( TrrflH kqr I ss} yqrc rR qfr fud
P. T. O.
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cr{ r eTREIrs €rs 2,000 {srfqi @7.50 {'o nfr
crd: iflftud 1,s00 {6rtqi
cr{ s tFq 3,000 $riqi @ 8.00 {o nft
qrd ro f{dtud 2,500 rs,r*qi
qrd rs m-.I 2,500 Ssrtqi @ 9.00 do qft
qr{ rz f+tttod 2,ooo tfirtqi
qrd zr ,szl 2,000 {srfqi @ 8.50 r'o xfr


